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MAT 137 . HW #1 Name DL AAT IOl o
1/22/0¢ {due Wednesday 1/28/09)
10 points '
Shaw work or otherwise jnstify yvour augwers. Uusnpported asswers (Lo, calenjator output) will norn )'er:t.‘i.\'e full credit,. You may &:hc.{ck YOUr ANSWEers
with a calealator UI'.(:(Jnlpu{.c:r. .
1. Let R be the region bounded by v = 0, v = 1, ¥ = z, and y = 'z — 1. Set up, but do not evaluate,
an integral or a sum of integrals, for the area of R, using

{a) horizontal sections, integrating with respect to y.
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{b) vertical cross sections, integrating with respect to z.
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2. {a) Set up {(but do not evaluate) an integral expression for the volume of a pyramid of height 6
crn, with base a square of side length 3 cm.

Hint: Cross-gections parallsl to the base are sauares é’?
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(b) Buppose the density of the pyramid in part {a) at poinis z centimeters above the base is
106 ~ x% grams per cubic centimeter. Set up (but do not evaluate) an integral expression for the
total mass of the pyramid.

Nnte: If the density of an object {such as a horizonial section of the pyramid) Is constant, then the mass is E!qual to deusity times volume,
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3. Set up (but do not evaluate) an integral expression for the volume the solid obtained by rotating
the region bounded by y = &, y = 2 — x, and the » axis

' (a) about the y axis,
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{b) about the z-axis. ™

Hint: Use cvlindrical shalls.
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